I can identify mistakes within a sentence
1. Tripping down the stony path, Nick and Carrie sprinted towards the house.

2. Confidently, they struggled over the white fence.

3. Worried by the gobbling noise that was coming closer and closer.

4. Exhausted, Carrie and Nick ran into a tunnel of yew trees covered with snow the trees curled to make a massive arch.

5. Edging silently through the snowy thicket, the children walked quickly through the woodland path.

6. Tiptoeing silently, Carrie walked hastily away. 

7. Gobsmacked by their snowy surroundings, Nick ran downstairs absolutely delighted. 

8. Singing merrily, as they edged through the snowy thicket. 

9. Dazzled by intertwining trees, the two children dragged themselves through the magical forest to the dark and ghastly Druid’s Bottom.

10. Quickly, the children ran towards the large house they banged loudly on the door. 







Answers
1. Word choice – the children can’t be tripping and sprinting at the same time.  
2. Word choice – you can’t confidently struggle.
3. This is a subordinate clause that needs a main clause attached.
4. [bookmark: _GoBack]Punctuation - a full-stop is needed after the word “snow”.
5. Word choice – you can’t edge silently and walk quickly at the same time. 
6. Word choice – you can’t tiptoe and walk away hastily at the same time. 
7. Grammar – it should have said gobsmacked by his snowy surroundings…
8. This is a subordinate clause that needs a main clause attached.
9. Word choice – the word mesmerised implies that they were loving the experience.  Therefore, they wouldn’t be dragging themselves as though it was a chore. 
10. Punctuation – a full-stop is needed after door. 



